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03 2IZHRAETAIHHI 1,020,760 968,840 51,920
O=dIOIE A & XNSHE X2 A 1,020,760
= 510,380
< 153,114
[Ea 367,266
SHEGH? MelD] HSAI(EX) 41,000 45,714 N4, T14
= 28,700
o 12,300
101 2I24H| 37,310 41,559 N4,249
= 26,117
o 11,193
04 JIZtNZ22 XS 2+ 37,310 41,559 A4,249
O +=H otdot= MdJ] et 212
= 37,310
= 26,117
[Ea 11,193




FA 3
Zu: 2230 HIIE 22
CHl MEBEHDIZ AN - X2 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 M=l 3,690 4,155 A465
= 2,583
= 1,107
01 MZH| 3,690 4,155 AN465
O3+ ofdot= MdJ| MG ME
]l 3,690
= 2,583
s 1,107
SZHHY SSdotd &SN 85,000 100,000 15,000
= 25,500
= 59,500
401 AIZHIZL SO 85,000 100,000 A15,000
= 25,500
= 59,500
01 Al&H| 85,000 100,000 /15,000
SZHHE Ssdoty &2 85,000
= 25,500
[Ea 59,500
22 LXIS0IE ®Mel X2 200,000 200,000 0
402 2I2FXH=201H 200,000 200,000
03 2IZHAAETALHHI 200,000 200,000
O=E2Yx=a0lE HMel K& 200,000
HESSUHIDIZEEXIAIS 187,000 0 187,000
401 AIEHIZL S0 187,000 187,000
01 Al&H| 187,000 187,000
OoNegssuitg EXA
17,000,000& 1190 2 187,000
He=g(Haee) g3t A 20,000 0 20,000
=S 10,000
s 10,000
405 AtatE = 20,000 0 20,000
== 10,000
[Ea 10,000
01 TR ESFH SHI 20,000 0 20,000
OSAlE SHNSE dE+HE EXA 15,000
S 7,500
= 7,500
OMESIIsHE ZCliHEY XA 5,000
= 2,500
Ea 2,500
1818J| Ble SHSI| At 40,000 0 40,000
< 20,000
[Ea 20,000




SN 82D
33 280 Hol= 2c
EPl: MEHDIZE = - XM EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 40,000 0 40,000
= 20,000
= 20,000
02 2IZHBYAIHE X 40,000 0 40,000
O188)] gl SEMZ=)| At 40,000
= 20,000
o 20,000
A =gl 22l 5,696,738 9,089,212 A3,392,474
MEHI|ISHA=& 5,696,738 9,089,212 A3,392,474
SZBUUXIEL2AIL (HDISHM2IAIE ESAY) 730,800 3,761,000 23,030,200
401 Al HIZ 2018 730,800 3,761,000 23,030,200
01 Al&H| 718,800 3,461,000 A2,742,200
Oz 2tB0UHXIEIZ ZEAHY 718,800
03 Al THYI 12,000 0 12,000
OIS FUHKIEIZ ZEAIS 12,000
FEAS XA 30,791 51,914 A21,123
101 e124d| 26,031 50,794 N24,763
M ORNZZ2NSE S 26,031 50,794 N24,763
O22AE ZpILARE
78,8803 x2H 165! 26,031
201 Ler23| 4,760 1,120 3,640
01 At2teltl 4,760 1,120 3,640
ORIz g4+4 70,0003 %17 +43] 4,760
2 2N 2E 2,108,000 2,876,600 A768,600
201 ger= 3| 108,000 202,000 A94,000
01 AtR2tc|HI 6,000 10,000 24,000
OUoI=a! BA== 5,000
oY 2AME 222 HA 1,000
02 S5=2g4l 102,000 192,000 80,000
Oll&h Zo daEMg )| ~22ZAE SS2= 90,000
Ol ah 2 MMy D] A2HAIE HEHI(Z
=) 10,000
OodMYLE= 2,000
307 212+01& 2,000,000 2,674,600 674,600
05 2ItRIE = 2,000,000 2,674,600 674,600
Ol A A MatMg )] A2AIE 29 2,000,000
29 dEitEedy 29 675,649 1,109,400 A433,751
201 er2 3| 26,000 16,000 10,000
01 At2teltl 21,000 11,000 10,000
OMEES iz &++2 1,000
O&FF HII= ?& X 20,000
02 s3=gbl 5,000 5,000 0




SN &2
. AEzgdy 2g27
©el: MEHDISXA=E (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ozl Meitas|s=dH A2HI(3R) 5,000
206 M=l 14,000 14,000
01 MZH| 14,000 14,000
onNgEs 2c=HE =% O 8,000
OHE =8 Z2EH
3,000 *2,000ke 6,000
307 elztol & 635,649 1,079,400 A443,751
05 2ItRIE =2 635,649 1,079,400 N443,751
OZs daiasdH 2 635,649
AE=dE 29 2,151,498 1,115,298 1,036,200
201 Let=23 | 643,720 732,520 88,800
01 AtR2te|Hl 557,620 46,420 511,200
OXrd =gt 1= +
300,000 x5 *13] 1,500
Ot =ghdlle] HHES 7Y 3,000
OXtEz=gtdlle] RAZUIAIAE A
160,000& * 122 1,920
OFEXclAE Zuab| N2&g
1,500,000 23] 3,000
O=&2P A== 35,000
OXE=gHle] MM D] A2TAIE HDIS
dab ZA 1,200
OXE e METAS|=HEH IS
INDLES 5,000
OX=8tllE] 2a0tA SH22M AN
a3 5,000
OFETXcls =mead2 Fo 2,000
OJtgld MEHIIE fIgHel 89(a2) 500,000
2 s5=34l 86,100 686,100 600,000
OXrdz=gtdllel HEH| 25,000
OAIE2 &t || 15,000
OHSMH M2l ES(HES) 40,000
OXt=ghdlE 2telgalt] 100
O2FA S M|
1,000,000 64 6,000
202 O4H| 5,778 5,778
01 2L A LI 5,778 5,778
OdgMy I 2eltiE 22 5,778
206 M=l 12,000 12,000
01 M= H| 12,000 12,000
OXt =gty &3 7Y 5,000
Olgld JIAHHNE RE82 4,000
Ollgld =N F¢ 3,000
308 AtAIEHMSOIE 170,000 170,000 0




SN &2
. AEzgdy 2g27
©el: MEHDISXA=E (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
B IIERg=s 170,000 170,000 0
OCHJIZSXM=2 fE= 170,000
401 Al HIX S0 1,320,000 80,000 1,240,000
01 AlZH| 1,320,000 80,000 1,240,000
Oz MaMg )] A2AIE HII23d e
HEEX 420,000
OZS MeEXRA5|=HE A 880,000
OAIEEHl |4l - 2= 20,000
AN 6,500 30,100 /23,600
HEe =AHEE X4 6,500 30,100 A\23,600
FZoh dEad xd 6,500 6,100 400
201 et 3| 6,500 6,100 400
01 AtR2tc|bI 5,000 5,000 0
OMaASIF 83X Ea & B ==
= 25,0002 *1CH*2002] 5,000
02 S5=2g4l 1,500 1,100 400
OJfelot=HelAlE Ex S AUE &5 =
y= 1,500
YA (22 1) 87,930 114,030 N26,100
lARAH|(2HE 1) 36,300 72,300 236,000
elAHI(&d 1) 36,300 72,300 /36,000
101 @124H| 36,000 72,000 236,000
03 SR (RINHA) 222+ 36,000 72,000 /36,000
OQIfY (Mt =edE 2te)
6,000,000 * 12 * 122 x50 36,000
201 Zet=Ehl 300 300
01 AtR2t2lHI 300 300
O33R (gZ 0=
150,000 1 »23] 300
JlE2Zdel(s8d) 51,630 41,730 9,900
JlEZe(&8Z ) 51,630 41,730 9,900
201 =3 36,852 36,492 360
01 At2t2lt] 36,852 36,492 360
OJl==3Hl 9,900
OJI2=gHl 12,672
Og Al 60,0002 2 *119& 14,280
202 04| 1,458 1,458
01 2LHA b 1,458 1,458
O3t JI=2gRFd 1,458
203 g4l 4,320 3,780 540
M EASHLRFAH 4,320 3,780 540
Odlt FA2EHRFA
400,000 122 *90% 4,320




SN &2
M HZRAZHI(2EM)
ool J1=2dI(2H2 1) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
405 AHaHE = 9,000 9,000
01 It =S F = 9,000 9,000
OSAPI 2¢ 9,000,000 *1CH 9,000
Hees(Ez) 310,288 1,467,271 1,156,983
LIS HHXIE 310,288 1,467,271 1,156,983
LHEHHXIE 310,288 1,467,271 1,156,983
RISdES 310,288 1,467,271 1,156,983
01 oIsdE=s 310,288 1,467,271 1,156,983
OHIIEXcAlE F2XE)|I= HES 310,288




